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Class XI

SUBJECT:CHEMISTRY

Class11ImportantQuestionsforChemistry- The
s-Block Elements

NCERTExemplarClass11Chemistryisveryimportantresourceforstudents
preparingforXIBoardExamination.HerewehaveprovidedNCERTExemplar

Problems Solutions along with NCERT Exemplar Problems Class 11.
QuestionfromveryimportanttopicsarecoveredbyNCERTExemplarClass11.You also get
idea about the type of questions and method to answer in your Class 11th examina
HereyoucangetClass11ImportantQuestionsChemistrybasedonNCERTTextbook for
Class XI. Chemistry Class 11 Important Questions are very helpful to score high marks
in board exams. Here we have covered Important Questions on The s-Block Elements
for Class 11 Chemistry subject.

ChemistrylmportantQuestionsClass11aregivenbelow.
MultipleChoiceQuestions(Type-I)

Thealkalimetalsarelowmelting. Whichofthefollowingalkalimetalisexpectedtomeltifthe room

temperature rises to 30°C?
(i)Na

(i)K

(iii) Rb

(iv)Cs

. Alkalimetalsreactwithwatervigorouslytoformhydroxidesanddihydrogen.Whichofthe

following alkali metals reacts with water least vigorously?

(i)Li



(ii)Na
(iii)K
(iv)Cs

Thereducingpowerofametaldependsonvariousfactors.SuggestthefactorwhichmakesLi, the

strongest reducing agent in aqueous solution.
(i)Sublimationenthalpy
(ii)lonisationenthalpy

(iii)Hydrationenthalpy
(iv)Electron-gainenthalpy

Metalcarbonatesdecomposeonheatingtogivemetaloxideandcarbondioxide.Whichofthe metal

carbonates is most stable thermally?

(i)MgCOs

(ii)CaCo:s

(iii)SrCOs

(iv) BaCOs

Whichofthecarbonates givenbelowis unstableinairandis keptinCO.atmospheretoavoid
decomposition.

(i)BeCOs

(ii)MgCOs

(iii)CaCO:s

(iv) BaCO:s

Metalsformbasichydroxides.Whichofthefollowingmetalhydroxideistheleast basic?

(1)Mg(OH):

(ii)Ca(OH):

(iii)Sr(OH):

(iv) Ba(OH):
SomeoftheGroup2metalhalidesarecovalentandsolubleinorganicsolvents.Amongthe

following metal halides, the one which is soluble in ethanol is

(i)BeCl,

(ii))MgCl.
(iii)CaCl,
(iv) SrCl.



10.

12.

Theorderofdecreasingionisationenthalpyinalkali metalsis
(i)Na >Li>K >Rb

(ii)Rb<Na <K <Li

(iii)Li>Na >K >Rb

(iv)K <Li <Na <Rb

Thesolubilityofmetalhalidesdependsontheirnature,latticeenthalpyandhydrationenthalpy of the

individual ions. Amongst fluorides of alkali metals, the lowest solubilityof LiF in water is due to
(D)Ionicnatureoflithiumfluoride

(ii)Highlattice enthalpy

(iii)Highhydrationenthalpyforlithiumion.

(iv)Lowionisationenthalpyoflithiumatom

Amphoterichydroxidesreactwithbothalkaliesandacids.WhichofthefollowingGroup2metal

hydroxides is soluble in sodium hydroxide?

(i)Be(OH).

(ii)Mg(OH).
(iii)Ca(OH).
(iv) Ba(OH):

. Inthesynthesisofsodiumcarbonate,therecoveryofammonia isdonebytreatingNH.Clwith

Ca(OH).. The by-product obtained in this process is
(i)CaCl.

(i))NaCl

(iii)NaOH

(iv) NaHCO;

Whensodiumisdissolvedinliquidammonia,asolutionofdeepbluecolourisobtained.The colour

of the solution is due to
(i)ammoniatedelectron
(ii)sodiumion
(iii)sodiumamide

(iv)Jammoniatedsodiumion



13. Byaddinggypsumto cement

» (i)settingtimeofcementbecomesless.
» (ii)settingtimeofcementincreases.

» (iii)colourofcementbecomeslight.

* (iv)shiningsurfaceisobtained.

14. Deadburntplasteris
) CaSO,

1
() CaSO,. 5H,0

() CaSO.HO

(ivy CaSO,.2H,0

15. Suspensionofslakedlimeinwaterisknownas
*= (i)limewater

= (ii)quicklime

»  (iii)milkoflime

* (iv)aqueoussolutionofslakedlime

16. Whichofthefollowingelementsdoesnotformhydridebydirectheatingwithdihydrogen?

- (i)Be
~ (ii)Mg
- (iii) Sr
- (iv)Ba

17. Theformulaofsodaashis

» (i)Na:C0s.10H:0

»  (ii)Na.COs.H-0

= (iii)Na,C0s.2H.0

= (iv) Na:COs

18. Asubstancewhichgivesbrickredflameandbreaksdownonheatingtogiveoxygenanda brown

gas is

» (i)Magnesiumnitrate



20.

21.

(ii)Calciumnitrate
(iii)Bariumnitrate

(iv)Strontiumnitrate

. WhichofthefollowingstatementsistrueaboutCa(OH).?

(i)Itisusedinthepreparationofbleaching powder
(ii)Itisalightbluesolid
(iii)Itdoesnotpossessdisinfectantproperty.
(iv)Itisusedinthemanufactureofcement.

A chemical A is used for the preparation of washing soda to recover ammonia. When CO.is
bubbledthroughanaqueoussolutionofA,thesolutionturnsmilky.Itisusedinwhitewashing due to
disinfectant nature. What is the chemical formula of A?

(i)Ca (HCOs)-

(i))Cao

(iii)Ca(OH):

(iv)CaCOs
Dehydrationofhydratesofhalidesofcalcium,bariumandstrontiumi.e.,CaCl.6Hs0,BaCl..2H-O0,
SrClz.2H:0, can be achieved by heating. These become wet on keeping in air. Which of the
following statements is correct about these halides?

(i)actasdehydratingagent
(ii)canabsorbmoisturefromair
(iii)Tendencytoformhydratedecreasesfromcalciumtobarium

(iv)Allofthe above
MultipleChoiceQuestions(Type-II)

Inthefollowingquestionstwoormoreoptionsmaybecorrect.
Metallicelementsaredescribedbytheirstandardelectrodepotential, fusionenthalpy,atomic size,
etc. The alkali metals are characterised by which of the following properties?
(i)Highboilingpoint

(ii)Highnegativestandardelectrodepotential

(iii)Highdensity



(iv)Largeatomicsize

Severalsodiumcompoundsfinduseinindustries.Whichofthefollowingcompoundsareused for

textile industry?

(i)Na.COs

(ii)NaHCOs

(iii)NaOH

(iv)NaCl
Whichofthefollowingcompoundsarereadilysolubleinwater?

(1)BeSO.

(i1)MgSO0.

(iii)BaSO.

(iv)SrSO.
WhenZeolite,whichishydratedsodiumaluminiumsilicateistreatedwithhardwater,the

sodium ions are exchanged with which of the following ion(s)?

(i)H+ions

(ii)Mgz+ions

(iii)Caz+ions

(iv)SO42-ions
Identifythecorrectformulaofhalidesofalkalineearthmetalsfromthefollowing.
(i)BaCl.2H:0

(ii)BaCl..4H:0

(iii)CaCl..6H:0

(iv) SrCl..4H-0

Choosethecorrectstatementsfromthefollowing.

(i)Berylliumisnotreadilyattackedbyacidsbecauseofthepresenceofanoxidefilmonthe surface

of the metal.

(ii)BerylliumsulphateisreadilysolubleinwaterasthegreaterhydrationenthalpyofBe2+

overcomes the lattice enthalpy factor.
(iii)Berylliumexhibitscoordinationnumbermorethanfour.
(iv)Berylliumoxideispurelyacidicinnature.

Whichofthefollowingarethecorrectreasonsforanomalousbehaviouroflithium?



10.

11.

12.

(i)Exceptionallysmallsize ofitsatom
(ii)Itshighpolarisingpower
(iii)Ithashighdegreeofhydration

(iv)Exceptionallylowionisationenthalpy
ShortAnswerTypeQuestions

Howdoyouaccountforthestrongreducingpoweroflithiuminaqueous solution?
Whenheatedinair,thealkalimetalsformvarious oxides.MentiontheoxidesformedbyLi,Na and K.
Completethefollowingreactions

(1) O§'+H20—9 (i1) O, +HO0O—

2

Lithiumresemblesmagnesiuminsomeofitsproperties.Mentiontwosuchpropertiesandgive

reasons for this resemblance.
NameanelementfromGroup2whichformsanamphotericoxideandawatersolublesulphate.
Discussthetrendofthe following:

(i)ThermalstabilityofcarbonatesofGroup2elements.
(ii)ThesolubilityandthenatureofoxidesofGroup2elements.

WhyareBeS0.andMgSO.readilysolubleinwaterwhileCaS0.,SrSO.andBaSO.areinsoluble?
Allcompoundsofalkalimetalsareeasilysolubleinwaterbutlithiumcompoundsaremore

soluble in organic solvents. Explain.

IntheSolvayprocess,canweobtainsodiumcarbonatedirectlybytreatingthesolution
containing (NH4).COswith sodium chloride? Explain.
WriteLewisstrucureofO--ionandfindoutoxidationstateofeachoxygenatom?Whatis the
average oxidation state of oxygen in this ion?

Whydoberylliumandmagnesiumnotimpartcolourtotheflameintheflametest?

WhatisthestructureofBeCl.moleculeingaseousandsolidstate?

MatchingTypeQuestions

Inthefollowingquestionsmorethanoneoptionofcolumnlandllmaybecorrelated.



1. Matchtheelements giveninColumnlwiththepropertiesmentionedinColumnlI.

Column I Column 11
i) Li (@) Insoluble sulphate
(i) Na (b) Strongest monoacidic base
(iiij Ca (c) Most negative E® value among alkali
metals.
(ivy Ba (d) Insoluble oxalate

(@) 65° outer electronic configuration

2. MatchthecompoundsgiveninColumnlwiththeirusesmentionedinColumnll.

Column I Column 11
) CaCO, (@) Dentistry, ornamental work
(i) Ca(OH), (b) Manufacture of sodium carbonate from
caustic soda
(i) CaO (c) Manufacture of high quality paper
@ivy CaSO, (d) Used in white washing

3. MatchtheelementsgiveninColumnlwiththecolourtheyimparttotheflamegiveninColumn IIL

Column I Column I
i) Cs (a) Apple green
(i) Na (b) Violet
(iii) K (c) Brickred
ivyv Ca (d) Yellow
(v Sr (e) Crimson red
(vi Ba () Blue

AssertionandReasonTypeQuestions

InthefollowingquestionsastatementofAssertion(A)followedbyastatementof
Reason(R)isgiven.Choosethecorrectoptionoutofthechoicesgivenbeloweach

question.

1. Assertion(A):Thecarbonateoflithiumdecomposeseasilyonheatingtoformlithiumoxideand CO..
Reason(R):Lithiumbeingverysmallinsizepolariseslargecarbonateionleadingtothe
formation of more stable Liz....

= (i)BothAandRarecorrectandRisthecorrectexplanationofA.

= (ii)BothAandRarecorrectbutRisnotthecorrectexplanationofA.



(iii)BothAandRarenot correct
(iv)AisnotcorrectbutRiscorrect.

Assertion(A):Berylliumcarbonateiskeptintheatmosphereofcarbondioxide.
Reason(R):Berylliumcarbonateisunstableanddecomposestogiveberylliumoxideand carbon

dioxide.
(i)BothAandRarecorrectandRisthecorrectexplanationofA.
(ii)BothAandRarecorrectbutRisnotthecorrectexplanationofA.
(iii)BothAandRarenotcorrect.

(iv)AisnotcorrectbutRiscorrect.

LongAnswerTypeQuestions

Thes-blockelementsarecharacterisedbytheirlargeratomicsizes,lowerionisationenthalpies,
invariable +1 oxidation state and solubilities of their oxosalts.In the light of these features

describe the nature of their oxides, halides and oxosalts.

Presentacomparativeaccountofthealkaliandalkalineearthmetalswithrespecttothe

following characteristics:
(i)Tendencytoformionic/covalent compounds
(ii)Natureofoxidesandtheirsolubilityinwater
(iii)Formationof oxosalts
(iv)Solubilityofoxosalts
(v)Thermalstabilityofoxosalts

Whenametalofgrouplwasdissolvedinliquidammonia,thefollowingobservationswere

obtained:
(i)Bluesolutionwasobtainedinitially.
(ii)Onconcentratingthesolution,bluecolourchangedtobronzecolour.

Howdoyouaccountforthebluecolourofthesolution?Givethenameoftheproductformedon keeping

the solution for some time.

Thestabilityofperoxideandsuperoxideofalkalimetalsincreaseaswegodownthegroup.

Explain giving reason.



When water is added to compound (A) of calcium, solution of compound (B) is formed. When
carbon dioxide is passed into the solution, it turns milky due to the formation of compound (C).
If excessof carbondioxide is passed intothe solutionmilkiness disappears due to the formation
ofcompound(D).IdentifythecompoundsA,B,CandD.Explainwhythemilkinessdisappearsin the last

step.

Lithiumhydridecanbeusedtoprepareotherusefulhydrides.Berylliumhydrideisoneofthem.
Suggest a route for the preparation of beryllium hydride starting from lithium hydride. Write

chemical equations involved in the process.

An element of group 2 forms covalent oxide which is amphoteric in nature and dissolves in
watertogiveanamphoterichydroxide.ldentifytheelementandwritechemicalreactionsofthe

hydroxide of the element with an alkali and an acid.

Ions ofan element of group 1 participatein the transmission of nervesignals and transport of
sugarsandaminoacidsintocells.Thiselementimpartsyellowcolourtotheflameinflametest and
forms an oxide and a peroxide with oxygen. Identify the element and write chemical reaction

to show the formation of its peroxide. Why does the element impart colour to the flame?

Next»
AnswerstoMultipleChoiceQuestions
MCQ(Type-I)
A A A A A A
Q n Q n Q n Q n Q n Q n
. S .N S .N S .N S .N S .N S
N w 0o w 0 w 0 w o w o w
o e e e e e e
r r r r r r
(i
(i (i ii (i (i (i
1 V) 2 ) 3 ) 4 V) 5 ) 6 )
(i
(i ii (i 1 (i 1 (i 1 (i


https://schools.aglasem.com/58739

1 ( 1 ( 1 ii 1 ( 1 ( 1

3 ) 4 ) 5 ) 6 ) 7 ) 8
(i

1 ( 2 ii 2 (

9 ) 0 ) 1 )

Q.No. Answer Q.No. Answer Q.No. Answer
(i),

1 (iv) 2 (1), (iii) 3 (1),(ii)
(iD),

4 (iii) 5 (1), (iii) 6 (1),(ii)

7 (1), (i)

Classl1ImportantQuestions
forChemistry-Organic
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Classl11ImportantQuestionsforChemistry-
Organic Chemistry

MultipleChoiceQuestions(Type-I)

22. WhichofthefollowingisthecorrectlUPACname?

(1)3-Ethyl-4,4-dimethylheptane

(ii)4,4-Dimethyl-3-ethylheptane

(iii)5-Ethyl-4,4-dimethylheptane

(iv)4,4-Bis(methyl)-3-ethylheptane
O O

Il Il
The IUPAC name for CH,—C—CH,—CH,—C—OH is
23.

= (i)1-hydroxypentane-1,4-dione
= (ii)1,4-dioxopentanol

= (iii)1-carboxybutan-3-one

= (iv)4-oxopentanoicacid

24. ThelUPACnamefor
Cl

NO,

CH,

=  (i)1-Chloro-2-nitro-4-methylbenzene
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27.

28.

(ii) 1-Chloro-4-methyl-2-nitrobenzene
(iii)2-Chloro-1-nitro-5-methylbenzene
(iv)m-Nitro-p-chlorotoluene

Electronegativityofcarbonatomsdependsupontheirstateofhybridisation.Inwhichofthe

following compounds, the carbon marked with asterisk is most electronegative?

(i) CHs-CH,~*CH:-CH;
(ii)CHs—*CH =CH-CHs

(iii) CHs~CH.-C = *CH

(iv)CHs-CH,-CH =*CH,

. Inwhichofthefollowing,functionalgroupisomerismisnotpossible?

()Alcohols
(ii)Aldehydes
(iii)Alkyl halides
(iv) Cyanides

The fragrance of flowers is due to the presence of some steam volatile organic compounds
called essential oils. These are generally insoluble in water at room temperature but are
misciblewithwatervapourinvapourphase.Asuitablemethodfortheextractionoftheseoils from

the flowers is:

(i)Distillation

(ii)Crystallisation
(iii)Distillationunderreduced pressure
(iv)Steam distillation

During hearing of a court case, the judge suspected that some changes in the documents had
beencarriedout.Heaskedtheforensicdepartmenttochecktheinkusedattwodifferentplaces.

According to you which technique can give the best results?
(i)Columnchromatography

(ii)Solventextraction

(iii)Distillation

(iv)Thinlayerchromatography



29.

30.

31.

32.

Theprincipleinvolvedinpaperchromatographyis

(i)Adsorption

(ii)Partition

(iii)Solubility

(iv) Volatility
Whatisthecorrectorderofdecreasingstabilityofthefollowingcations.

® 2] =]
CH,—CH—CH, CH,—CH—OCH, CH,—CH—CH,—OCH,
L. I III.

(DI >I >

()11 >IIT >1
(iii) 11> I>11
(iv)I >I1 >II1

Correct [UPAC name for H,C- ICH = ?H—CH3 is
CH; C,H;

(i)2-ethyl-3-methylpentane
(ii)3,4-dimethylhexane
(iii)2-sec-butylbutane
(iv)2, 3-dimethylbutane

Inwhichofthefollowingcompounds thecarbonmarkedwithasteriskisexpectedtohave

greatest positive charge?

(i)*CH;—CH,—Cl
(ii)*CH;—CH,—Mg+Cl-

(111)*CH3—CH2—BI'

(IV)*CH3—CH2_CH3



33. lonic species arestabilised bythe dispersal of charge. Which of the followingcarboxylate ionis

the most stable?

?
() CH,—C—O

0
() Cl—CH—C—O

0
(i) F—CH,—C—O" i

F\ I
(iv) 7 ,CH—C—O"

34. Electrophilicadditionreactionsproceedintwosteps.Thefirststepinvolvestheadditionofan
electrophile. Name the type of intermediate formed in the first step of the following addition
reaction.

H:C—HC=CH:+ H+—>?

(i)2°Carbanion

(ii)1°Carbocation

= (iii)2° Carbocation

(iv)1° Carbanion

35. Covalentbondcanundergofissionintwodifferentways.Thecorrectrepresentationinvolving a

heterolytic fission of CH;—Br is

@ @—Bx —> OH, + B°
@ CH-'Br —» &H, + BS
(iii) CH,—/ﬁr — &4, + B®
(iv) @—[l\k —> CH, + Br



The addition of HCI to an alkene proceeds in two steps. The first step is the
36, attack of H* jon to >C = € { portion which can be shown as

n H™eLEC
@ HSC:cd
(i) H‘>/—C\‘=C<

(iv) All of these are possible

MultipleChoiceQuestions(Type-II)

Inthefollowingquestionstwoormoreoptionsmaybecorrect.

8. Whichofthefollowingcompoundscontainallthecarbonatomsinthesamehybridisationstate?
» ()H—C=C—C=C—H

»  (ii)CH;—C=C—CH;
«  (iii)CH.=C =CH,

«  (iv)CH:=CH—CH =CH.

9. Inwhichofthefollowingrepresentationsgivenbelowspatialarrangementofgroup/atom

different from that given in structure ‘A’?



O c1~pr

(i.l) H o \Br

1
|Br

(‘Iv) cl oW \H
H.C

10. Electrophilesareelectronseekingspecies.Whichofthefollowinggroupscontainonly

electrophiles?
() BF,,NH,,H,0

(@ AICL, SO, NO;

@ NOJ,CH], CH,-C=0

(ivv CH_, CH,, CZH;
Note:Considerthefollowingfourcompoundsforansweringquestions19and20.

Il
I. CH,~CH,-CH,-CH,-C-H

o
I
. CH~CH,-CH,-C-CH,

Il CH,-CH,C~CH,~CH,
o)

IV. CH,CH-CHC-H
CH,



11. Whichofthe followingpairs arepositionisomers?
= (i)landIl

= (ii)[IandlIII

»  (iii)IlandIV

= (iv)IllandIV

12. Whichofthefollowingpairsarenotfunctionalgroupisomers?
= (i)[andlIlI

»  (ii)IlandIV

»  (iii)landIV

= (iv)landIl

13. Nucleophileisaspeciesthatshouldhave

= (i)apairofelectronsto donate

» (ii)positivecharge

» (iii)negativecharge

» (iv)electrondeficientspecies

14. Hyperconjugationinvolvesdelocalisationof

* (i)electronsofcarbon-hydrogencbondofanalkylgroupdirectlyattachedtoanatom of

unsaturated system.

» (ii)electronsofcarbon-hydrogencbondofalkylgroupdirectlyattachedtothepositively

charged carbon atom.
» (iii)m-electronsofcarbon-carbonbond

» (iv)lone pairof electrons



13.

14.

15.

16.

17.

18.

19.

20.

ShortAnswerTypeQuestions

Note:ConsiderstructuresltoVIlandanswerthequestions 23-26.

I. CH,—CH,—CH,—CH —OH

1. CHs—CH,—(I:H——CHs
OH

CH,

|
III. CH,—c[:—CH,

OH

IV. CH,—CH—CH,—OH
CH,

V. CH,—CH,—O—CH,—CH,

VL. CH—O—CH,—CH,—CH,

VI. CH,—O—CH—CH,
CH,

Whichoftheabovecompoundsformpairsofmetamers?
Identifythepairsofcompoundswhicharefunctionalgroupisomers.
Identifythepairsofcompoundsthatrepresentspositionisomerism.
Identifythepairsofcompoundsthatrepresentschainisomerism.

For testing halogens in an organic compound with AgNOssolution, sodium extract (Lassaigne’s
test)isacidifiedwithdiluteHNOs;.Whatwillhappenifastudentacidifiestheextractwith dilute
H.S0.in place of dilute HNO;?

WhatisthehybridisationofeachcarboninH,C=C=CH..

Explain,howistheelectronegativityofcarbonatomsrelatedtotheirstateofhybridisationinan

organic compound?

Showthepolarisationofcarbon-magnesiumbondinthefollowingstructure.

CH3—CH2—CH2—CH2—Mg—X



21. Compounds with same molecular formula but differingintheirstructures aresaidto be

structural isomers. What type of structural isomerism is shown by

CH
CH,—S—CH,—CH,—CH, and CH,—S—CH (CH’

3

22. Whichofthefollowingselectedchainsiscorrecttonamethegivencompoundaccordingto [UPAC

system.
CH,—CH, CH—CH, | o
Il - [
CH,—éH—CH, H—C—OH CH,-J:H—CH,—cl:H —OH
| 4 carbon chain| 2 | 7 carbon chain| (|:
CH,—OH CH,—OH
CH,—CH, |3| lcn,—cn, 7o)
1 Il Il
| CH—CH—CH,—CH—C—OH| CH,;~+CH—CH,—CH—C—0
| |
| 5 carbon chain| (|:H’ | 6 carbon chain| ?Pl’
CH,—OH CH,—OH

23. InDNAandRNA,nitrogenatomispresentintheringsystem.CanKjeldahlmethodbeusedfor the

estimation of nitrogen present in these? Give reasons.

24. Ifaliquidcompounddecomposesatitsboilingpoint,whichmethod (s)canyouchooseforits
purification. It is known that the compound is stable at low pressure, steam volatile and
insoluble in water.

Note:Answerthequestions35to38onthebasisofinformationgivenbelow:
“Stabilityofcarbocationsdependsupontheelectronreleasinginductiveeffectofgroups adjacent to
positively charged carbon atom involvement of neighbouring groups in hyperconjugation and

resonance.”

Draw the possible resonance structures for CH,—0O—CH, and predict which
25. of the structures is more stable. Give reason for your answer.

26. Whichofthefollowingionsismorestable?Useresonancetoexplainyouranswer.

)
CH, CH,
(J=
(A) (B)



27. The structure of triphenylmethylcationis givenbelow.This is verystable andsome of its salts

can be stored for months. Explain the cause of high stability of this cation.
- O

28. Writestructuresofvariouscarbocationsthatcanbeobtainedfrom2-methylbutane.Arrange

these carbocations in order of increasing stability.

29. Threestudents,Manish,RameshandRajniweredeterminingtheextraelementspresentinan
organic compound given by their teacher. They prepared the Lassaigne’s extract (L.E.)
independently by the fusion of the compound with sodium metal. Then they added
solidFeS0O.and dilute sulphuric acid to a part of Lassaigne’s extract. Manish and Rajni
obtained prussian blue colour but Ramesh got red colour. Ramesh repeated the test with the
same
Lassaigne’s extract, but again got red colour only. They were surprised and went to their
teacherandtoldhimabouttheirobservation.Teacheraskedthemtothinkoverthereasonfor this. Can
you help them by giving the reason for this observation. Also, write the chemical equations to
explain the formation of compounds of different colours.

30. Namethecompoundswhoselineformulaearegivenbelow:

(I? NO,

@ (i) [

31. Writestructuralformulaeforcompoundsnamedas-
* (a) 1-Bromoheptane
*= (b)5-Bromoheptanoicacid

32. Drawtheresonancestructuresofthefollowingcompounds;

() CH,= CH—CL:
(1)) CH,=CH—CH=CH,

(i) CH,= CHAZ =0



33.

34.

35.

36.

37.

38.

39.

Identifythemoststablespecies inthefollowingsetofionsgivingreasons :
+ + + 4
() CH,.CH,Br, CHBr,,CBr,

e
@ CH,.CH,cl . CHa, . &y,

Givethreepointsofdifferencesbetweeninductiveeffectandresonanceeffect.

Whichofthefollowingcompoundswillnotexistasresonancehybrid.Givereasonforyour

answer .

(i)CH;OH
(i))R—CONH.

(iii) CHsCH= CHCH.NH,

Whydoes SOsactas an electrophile?

Resonancestructuresofpropenalaregivenbelow.Whichoftheseresonatingstructuresismore

stable? Give reason for your answer.
<] e
CH,=CH—CH =0<——> CH, —CH = CH—O
I II
Bymistake,analcohol(boilingpoint97°C)wasmixedwithahydrocarbon(boilingpoint68°C).

Suggest a suitable method to separate the two compounds. Explain the reason for your choice.

Whichofthetwostructures(A)and(B)givenbelowismorestabilisedbyresonance? Explain.
e
CH SCOOH and CH,COO

(&) (B)
MatchingTypeQuestions

InthefollowingquestionsmorethanonecorrelationispossiblebetweenoptionsofColumnl and

Column II. Make as many correlations as you can.



4. MatchthetypeofmixtureofcompoundsinColumnl withthetechniqueof

separation/purification given in Column II.
Column I

(i) Two solids which have different
solubilities in a solvent and which
do not undergo reaction when
dissolved in it.

(i) Liquid that decomposes at its
boiling point

(iii) Steam volatile liquid

(ivy Two liquids which have boiling
points close to each other

@)

(b)

(©
(d)

(vy Two liquids with large difference in (e)

boiling points.

Column I1

Steam distillation

Fractional distillation

Simple distillation
Distillation under reduced

pressure

Crystallisation

5. MatchthetermsmentionedinColumnlwiththetermsinColumnliL.

6.

Column I
(i) Carbocation (@)
(i) Nucleophile (b)
(iii) Hyperconjugation (©
(iv) Isomers (d)
(v sp hybridisation (e
(vi) Electrophile )

MatchColumnlwithColumnll.

Column I

() Dumas method

(ii) Kjeldahl's method
(ii) Carius method
(ivy Chromatography
(v Homolysis

Column II

Cyclohexane and 1- hexene

Conjugation of electrons of C-H
o bond with empty p-orbital present
at adjacent positively charged

carbon.

sp? hybridised carbon with empty

p-orbital

Ethyne

Species that can receive a pair of

electrons

Species that can supply a pair of

electrons

Column 1

(@) AgNO,

(b) Silica gel

() Nitrogen gas
(d) Free radicals

() Ammonium sulphate



7. Matchtheintermediates giveninColumnlwiththeirprobablestructureinColumnll

Column I Column 11
(i) Free radical (@) Trigonal planar
(ii) Carbocation (b) Pyramidal
(iii) Carbanion (c) Linear

8. MatchtheionsgiveninColumnlwiththeirnaturegiveninColumnliL

Column I Column 11

“w @

) CH;—O—CH—CH, (a) Stable due to resonance

(i) F,—C® (b) Destabilised due to inductive effect
ik

(i) CH,—(IIe (c) Stabilised by hyperconjugation
CH,
@

(ivy CH,—CH—CH, (d) A secondary carbocation

AssertionandReasonTypeQuestions

InthefollowingquestionsastatementofAssertion(A)followedbyastatementofReason(R)is given.
Choose the correct option out of the choices given below each question.

3. Assertion(A):Simpledistillationcanhelpinseparatingamixtureofpropan-1-ol(boilingpoint 97°C)
and propanone (boiling point 56°C).
Reason(R):Liquidswithadifferenceofmorethan20°Cintheirboilingpointscan beseparated by

simple distillation.
= (i)BothAandRarecorrectandRisthecorrectexplanationofA.
= (ii)BothAandRarecorrectbutRisnotthecorrectexplanationofA.
= (iii)BothAandRarenotcorrect.
= (iv)AisnotcorrectbutRiscorrect.

4. Assertion(A):Energyofresonancehybridisequaltotheaverageofenergiesofallcanonical forms.

Reason(R):Resonancehybridcannotbepresentedbyasinglestructure.

= (i)BothAandRarecorrectandRisthecorrectexplanationofA.



(ii)BothAandRarecorrectbut Ris notthecorrectexplanationof A.
(iii)BothAandRarenotcorrect.
(iv)AisnotcorrectbutRiscorrect.

Assertion(A):Pent-1-eneandpent-2-enearepositionisomers.

Reason(R):Positionisomersdifferinthepositionoffunctionalgrouporasubstituent.
(i)BothAandRarecorrectandRisthecorrectexplanationofA.
(ii)BothAandRarecorrectbutRisnotthecorrectexplanationofA.
(iii)BothAandRarenotcorrect.

(iv)AisnotcorrectbutRiscorrect.

Assertion(A):Allthecarbonatoms inH2C=C=CH2arespZhybridised

Reason(R):Inthismoleculeallthecarbonatomsareattachedtoeachotherbydouble bonds.
(i)BothAandRarecorrectandRisthecorrectexplanationofA.
(ii)BothAandRarecorrectbutRisnotthecorrectexplanationofA.
(iii)BothAandRarenotcorrect.

(iv)AisnotcorrectbutRiscorrect.

Assertion(A):Sulphurpresentinanorganiccompoundcanbeestimatedquantitativelyby
Carius method.
Reason(R):Sulphurisseparatedeasilyfromotheratomsinthemoleculeandgetsprecipitated as light

yellow solid.
(i)BothAandRarecorrectandRisthecorrectexplanationofA.
(ii)BothAandRarecorrectbutRisnotthecorrectexplanationofA.
(iii)BothAandRarenotcorrect.

(iv)AisnotcorrectbutRiscorrect.

Assertion(A):Componentsofamixtureofredandblueinkscanbeseparatedbydistributing the
components between stationary and mobile phases in paper chromatography.

Reason (R) : The coloured components of inks migrate at different rates because paper
selectivelyretainsdifferentcomponentsaccordingtothedifferenceintheirpartitionbetween the

two phases.

(i)BothAandRarecorrectandRisthecorrectexplanationofA.



10.

11.

12.

13.

14.

15.

(ii)BothAandRarecorrectbutRis notthecorrectexplanationofA.
(iii)BothAandRarenotcorrect.

(iv)AisnotcorrectbutRiscorrect.
LongAnswerTypeQuestions

Whatismeantbyhybridisation?CompoundCH>=C=CH.containssporspzhybridisedcarbon atoms.

Will it be a planar molecule?

Benzoicacidisaorganiccompound.ltscrudesamplecanbepurifiedbycrystallisationfromhot water.
What characteristic differences in the properties of benzoic acid and the impurity make this

process of purification suitable?

Two liquids (A) and (B) can be separated by the method of fractional distillation. The boiling
pointofliquid(A)islessthanboilingpointofliquid (B).Whichoftheliquidsdoyouexpectto come out
first in the distillate? Explain.

You have amixture of three liquids A, B and C. There is a large difference in the boiling points of
Aandrestofthetwoliquidsi.e.,BandC.BoilingpointofliquidsBandCarequiteclose.LiquidA boils at a
higher temperature than B and C and boiling point of B is lower than C. How will you separate
the

componentsofthemixture.Drawadiagramshowingsetupoftheapparatusfortheprocess.

Draw a diagram of bubble plate type fractionating column. When do we require such type of a
column for separating two liquids. Explain the principle involved in the separation of
componentsofamixtureofliquidsbyusingfractionatingcolumn.Whatindustrialapplications does

this process have?

Aliquidwithhighboilingpointdecomposesonsimpledistillationbut itcanbesteamdistilled for its

purification. Explain how is it possible?

Next»
AnswerstoMultipleChoiceQuestions
MCQ(Type-I)
A A A A A
Q A Q n Q n Q n Q n Q n
N oos N w N w N w N w N w
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PM SHRI KV PANISAGAR

HOLIDAY HOMEWORK

Class Xi

Subject Mathematics

(1) Complete your copy for the chapter
STRAIGHT LINES

(2) Complete your copy for the chapter
CONIC SECTION

(3) Solve the remaining questions of the

chapter 3D Geometry (exercise 11.1 & 11.2)



PM SHRI KV PANISAGAR
HOLIDAY HOMEWORK( CLASS XI )
COMPUTER SCIENCE

1) What are the major strength and weaknesses of a computer ?
2) Why is binary language often termed as machine language ? Why is machine language needed?
3) What is the difference between OCR and OMR ?
4) What are the two categories of printers ? Which type of printer is more speedy
5) What is the difference between RAM and ROM ?
6) What are various categories of software ?
7) What are various types of Operating System ?
8) What is application software ? Why are its types?
9) How is compiler different from interpreter ?
10) What are the differences between hardware, software and firmware ?
11) Give examples of each system software and application software. Explain the function of each
type.
12) What are the types of computers? How do they differ?
13) Write the full forms of the following terms VDU, LCD, DMP, CRT, CD-RW, DVD.
14) What functions are performed by the control unit ?can you call it the control centre of the
computer system ? why ?
15) Distinguish between CPU and ALU .
16) What role dose memory play in the functioning of computer system ?
17) What is a bit ? What is binary cord ?
18) Define each of the following : (a) nibble (b) byte (c) kilobyte (d)megabyte (e) gigabyte (f)
terabyte .
19) What is the meaning of the term volatile primary memory ? What can be done to over com the
problems of volatility ?
20) Distinguish between internal and external memory .
21) What are the software classifications ? Discuss their functioning in brief .
22) What are the four different types of computers based on their working methods ?
23) What do you understand by the term ‘super computer ? Give the name of a super computer

installed in India .



24) How are digital, analog and hybrid computers different form one another ?
25) What is Booting ?

26) Explain different types of booting .

27) Differentiate between source cord and object cord .

28) What are different OS type ? Give examples .

29) What are Device Drives ?

30) Discuss the importance of backup tool .

31) How are Disk Defragmenter and Disk cleanup tools different ?
32) Explain the concept of virtual storage .

33) What are open source based software ?

34) Compare and Contrast

(i) Free software and open source software

(i) Proprietory software and free software

(iii) Freeware and shareware

(iv) Freeware and Free software .



PM SHRI KV PANISAGAR

HOLIDAY HOMEWORK

For Class — XI (English)
Write each of the following questions in 100-120 words.
1. Explain the reasons of changing relationship between the grandmother
and the author.
2. Sketch the character of the grandmother.
3. Discuss the values highlighted in the chapter The Portrait of a Lady.
4. |dentify the poetic devices used in the poem A Photograph and discuss
their meanings.
5. Human life is short-lived in contrast to nature. Comment on the
statement in the light of the poem A Photograph.
6. Can the act of stealing be ever justified? Give your views in the context

of reading of The Summer of the Beautiful White Horse.
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PM SHRI KENDRIYA VIDYALAYA PANISAGAR

2023-24
HOLIDAY HOME WORK (WINTER BREAK)
CLASS -11 SUBJECT -PHYSICS

1.Explain the variation of g with height and depth.
2. State kepler’s laws of planetary motion.
3.Find the expression for orbital velocity of a satellite.

4.Draw stress —strain curve for a metallic wire and explain important points regarding
it.

5. Explain any two applications of knowledge of elasticity

6.Solve any one numerical problem based on Young's modulus.

7.Solve any one numerical problem based on bulk modulus.

8. Explain the principle, construction and working of hydraulic lift.

7. state and prove equation of continuity.

8. Solve any one numerical problem based on equation of continuity.
9.Explain any one examples based on application of Bernoulli's theorem .
10.Solve any one numerical problem based on Bernoulli's theorem.

11.Complete the Physics practical file.



PM SHRI K.V. PANISAGAR
WINTER VACATION HOMEWORK
Class - 11th
Subject- BIOLOGY
1. Photosynthesis in higher plants, Respiration in plants.
* Revise the above chapters. Practice all important diagram with lablelling properly.
2. Subject capacity building assignment.(project)
* Carry out a detailed study on effects of antibiotics on micro-organisms.

3. Read the chapters of human physiology thoroughly.

Edit with WPS Office
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